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A 3.0 kg block starts up a 40° incline with 200 J of kinetic energy. How far will it slide

up the incline if the coefficient of kinetic friction between the block and the incline is
0.40?
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A 2.0 kg block is released from a compressed spring (k=160
N/m). It travels over a horizontal surface (Wi =0.40) for a
distance of 3.0 m before coming to rest. How far was the
spring compressed before being released
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A 12-kg block is resting on a horizontal frictionless surface. The block is attached to an
unstretched spring (k= 800 N/m) (see the figure). A force F = 80 N parallel to the surface

is applied to the block. What is the speed of the block when it is displaced by 13 cm from
its initial position?
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